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2| a i | 1 mark for each protocol Mark first answer in
each box.
Task Protocol
Allow full name to
be written e.g. file
Requesting a webpage from a web server HTTP // HTTPS transfer (protocol).
Accept POP3 or
Entering a username and password to access HTTPS any clher verslon
their bank account
Downloading a text document from a web
saner FTP // HTTP /[l HTTPS
Checking for new emails in their inbox IMAP /i POP
2 a ii | 1 mark each to max 2: Max 1 in each
+ Each layer is independent // layers are not reliant on other layers answer space
+« One layer can be changed without affecting the others // a layer can function without
needing/changing/impacting any other layer // self-contained
* Separates tasks so they can be developed independently
* A developer can focus on only one layer /f developer can specialise
+ Allows for standards for individual tasks/layers to be developed /f for compatibility
+ Manufacturers can develop hardware to fit into one particular layer
» To group together similar protocols
2 b i | 1 mark from:
* Uses dedicated/own/internal hardware
Il no externalfthird party hardware/infrastructure
/l computers use MAC addresses to communicate within the LAN
2 b ii 1 mark each to max 4: Easier/cheaper on
e.g. their own is NE
« Allows mere devices to connect ...
« _ for example televisions, mobile phones
+ Easy to connect (devices) // Easier to selup (wireless connections) // By example e.g. easier for
guests to connect their devices
+ Home is likely small area
+ .. s0 short distance wireless is sufficient
+ Devices can move around /f can use devices in different areas // can connect from anywhere in
the house // can use where wires don't reach /f can access from a larger area (than wired)
* ... by example e.g. student is using a laptop so does not need to be tied to one place // by
example e.g. they don't have to disconnect before moving // e.g. they can stay connected whilst
movin
. Chea;:?er to purchasefinstall/setup for new devices // no cost for (new/replacement)
wires/hardware
+ .. .because no additional/fewer wires are needed
+ Fewer trip hazards from trailing wires // reduce risk of damage to cables // fewer cables to
damage
* More compatible // some devices only have wireless connections
2 b iii |1 mark each to max 2: MP3 needs to say
e.qg. what is slower /
+ Prone to interference // by example decreased e.qg. It's
* Limited range of signal slower, is NE
* Slower rate of transmission /f less bandwidth /f reduced network performancelf increased latency
[ BOD slower connection // more users reduces rate of transmission / bandwidth /performance
etc. Mark first drawback
* Increased risk of security concerns // by example e.g. A hacker could connect to the wireless in each answer
connection space.
* Less stable connection L liable is TV
; o ; ess reliable is
+ Higher chance of collisions // Higher error rate on i ownfar MB 8
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5 c i 1 mark for identification: Incorrect computer, do not
+ Artist's computer // computer uploading the images // BOD The artist award justification.
1 mark each for justification to max 2: Be careful the justification is
e.g. talking about the upload of
=  Sends the files/data for storage/to the host/web server // the files are stored on images to the web server,
the web server not the download.
« Performs the user's actions ...
« . and sends the results to the web server Accept host for web server.
+ Sends a request to the web server... ) o
* .. to store/upload its files If ‘user's computer is given
+ |t does not store data for others to access for :;:Ient;ﬁca_tmtr_lft ”“t's is NE —
«  Confirmation of upload/error is received (from server) for display I’ff:l_,_;"wg",jgsg rriiaced B
or similar is given this is
incarrect.
5 c il | 1 mark for identification: If computer is incomplete or

+ Web server

1 mark each for justification to max 2:

e.g.
* The images/data are stored on / uploaded to / sent to / hosted on the web server
*  \Web server receives a request (from the artist's computer to upload the images)
*  Web server executes/responds to the request // Web server is doing the
processing/handling the (request to) upload
« Web server retumns confirmation/error of the processing/upload

inaccurate e.g.
server/website instead of
web server. Do not award
computer, but award
justification.

Allow FT in justification if the
same inaccurate term is
used, for example ‘website'
is given as computer (NE),
but justification is: 'images
are sent to the website' (FT
for website instead of web
server).

Incorrect computer, do not
award justification.
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3 (a)

1 rrsrk @ach o max 3

= Shower transmission of data V lass data can be
fransmatted at the same time [ the ransmission
rate decreases / time io sendirecaive increases

*  (More devices mean) more daia is being
tranamitted (at a tima)

+ Bandwidth will be split batween all the devicas
{sending data) /¥ each device uses some of the
bandwidth

+ . this means thal there is less bandwidth for
each device

*  Devices have 1o wail longer bedore they can
tranamit I increased latency

« [ the maximum bandwidth is used than devicas

cannod transmit

Cantral devica'switch/router has to handle mora

FisqUEsIS and may run Shwes

More collisions (likely) & higher emor rate .-

.morg dala has o be retransmilied

Loss of more packeds ...

...more data has to be retransmitied

The question is wity,

More devices do not decrease the bandwidth of the
natwork, Thay decrease the amount alocaled/ available
to each device.

Do nof accepl higher conbéntion ratio. This lerm means
the number of uSers on a connection, and IS therefors
repeating the question.

3 (a)

(i)

rk e.g,
Bandwidth
Interferencs | by example
Wirad iV wiredass [ fransmission madam
Typetamount of data baing transmitied
Central hardware performances | by examphe
8.g. routan’switch
Error rale
Distance batwean nodes
Topolosgy I physical youl
Wiralass repeatars

iiii!é!ii!

Do nod award the number of users.

Question = performance of network as a whaole, not an
individual device.

3 | ()

1 mark for each complated tarm

A wabsite is hosied on a web server. The computers
tharl access the websiles are called clients.

The user enters 8 Uniform Resource Locator info a
wish browser. The wab browser Sends a request 1o the
Domain Name Server for the malching IP (Inermed
Protocal) address. If found the 1P address is retumed.
A request is then sent io the |P address for the websiia.

An IPv4 address is made of 4 groups of digits. Each
group can be batween 0 and 255. The groups of digits
are separabed by a full stop

Words are given so must match, howeaver accapt
domain name system for domain name server, URL,
DNS.

Accepd 0 and 255 in either onder

Do not allow server for wab sarver because file server
iz another option and it will be ambiguous.

3 ic)

1 mark each o max 2
« Ethermel s used by {mostly) all manufacturers if
Ethernat is used in many devices
» To allow compatibllity with other devices

Ethernat has a high bandwidth

Etharnal has inbuill security

Ethernat s a proven/reliable connecton
Ethernel is bow cost for
purchase/installation/maintenance {compared
to othar wired connactions)

Accepl description of a standard, and/or benefits of
Ethernat {Le. why has this become a standard).

1 mark each to max 3 a.g.

Receive packels

Forwardisending/transmitling packels

Maintain a routing table I by description

Identify the most efficiant path to the deatination
! correct IP { correct location

hssign IP addresses 1o nodes/devices

»  Converts packets from one protocol to another.

Queastion is tasks camied out by 8 router, not the use of
a router in a network.
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3 ja) 1 mark aach to max 2 Queastion is ransmission not storage
e.g.
=« [Data cannot be understood if inercepted /i Tha Candidabes mighl answer in lerms of why encryplion is
dafa will be meaningless good, of why the current syslem i not good. If the
#  So that only authorsed users can access the candidate has not cleary said which they are talking
confidential material // protect about (e.g. the cument system ... of encryption means
confidential/personaliuser/library data ...} then the reverse of each mark peint can be ghwen,
= To follow hegislationTEA
3 in 1 mark each a.g. Mark first answaer in each line.
Send ernall: SMTP I/ simple mall iransler protocaol i abbreviabon is inaccurate, check if written oul (and
Accass wabsite securely: HTTPS I hypertaxt transfar Wice-varsa).
profocol secure
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T |a = & sat of rules for communication 1 1 mark only to be awarded for a cormact
(A01 1a) | definitien.
T bi A division of netwark Tunclionality 1 Candidale's responses may difler fram
(AD1 1a) | the given answer but must represent
concepiually the sama thing.
2.4 “a layer is wham jobsprocesses
are up” would receive e mark.
T |b|ii |+ isself-contained (1)... 2 1 mark o be awarded for the cormect
= il allows different developers o concentrale on one aspec of the nebvork (D1 1a) | identification and 1 for a valid
(1) descriplion up fo a maximum of 2
+ A layer can be taken out and edited without affecting other layers (1)... marks.
»  __il promoles inleroperabilily between vendors and systems (1)
T e It is easy to add 8 new node or devica F i 1 mark io be awarded for each comect
Question Answer Marks Guldance
= Fewer dala collisions can oocur (A02 1b) | reason o a maxirmum of 2 marks,
= |f a node or devica fails it does not affect the rest of the network
= A signal does not need bo be ransmitied o all computers in the network Ay valid comparisons o othar
topologles can e awarded marks.
10 | a The compuiers are geographically remoted distanced! more than a mile 1 1 mark only to be awarded for a correct
apart (AO1 1a) | definilion.
«  Communication medium is not owned by the law firm
Accepl responses such as the
company doasn't own tha
infrastructura.
Do nof accepl ‘Network over a widae
area’ or similar arrangemant of
wording.
0 b Two advantages from: 4 1 mark to be awarded for each cormecl
(a0 1b) | advantage, with a mark for a discussion

Ll

L]

It would offer additional storage (1) so the company can take on more
cases (1)

It iz & very efficient mathod of backing up data (1) and s0 saves the firm
tirrse: and rmoney (1)

It would allow their employees o work from anywhara (1) so they can lake
cases from other cowndries (1)

It iz ermdronmentally riendly (1)

Easy bo increase availabilily of storage (1)

You don't need spacialist network skills (1) so the firm don't need to
employ more staff (1)

The third party provides securily (1) so the company Saves money on stall
and softeare/hardwara (1)

The third party provides backup (1) so the company Saves money on stall
and softwarehardwara (1)

Cheaper as don't need own infrastructure (1)

Each advaniage needs 1o be contextualised to gain 2 marks,

of the advantage related to the law fim.
To a maximum of 2 advaniages.

The tolal nemiber of marks 1o ba
awarded for this task is 4 marks

Responses which are nol
contaxtualisad will gain a maximum of 1
mark per advantage (o 8 maximum of
2 advantages),
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7 a 1 mark per bullel LAN is one building is ME -
eithar: this does not make it a LAM,
* LAN is small geographical area WAN is multiple buildings -
* \WAN is over a large geographical area ME, a LAN can be multipla
or basldings.
= LAN {usually} has own/dedicated infrastructure
* WAN uses external’shared infrastruchure // by example (e.g. intermet)
T b 1 mark per bullsl Ignone anything superfluous
= Central swilch labelled...
= ...all davices conneclad ko caniral swilch only (BOD nol labaellad switch)
) c i 1 mark per section Angwer must be more than
repeating the question,
Wi-fi frequency question is how
= SGEHz frequency can carmy more data per second than a 2.4 GHz
frequency I/ 5GHz frequency has can transfer data faster
*  SGEHZ frequency has a shofer range S0 access may be limited
interference
« Lausas arrors which means signals need retransmitting which makes
mgne iraffic
+« Dbjacts may limit range /¥ objects can block the signal
Mumber af current users
= more fraffic means the same bandwidth is split f each user has less
bandwidth [ more collisions I mone users = mone traffic/data sent
Type of network traffic
* iransmilling videos/large files will lake up more bandwidih than bext files
T & i |1 mark e.g. Accepl olhers e.g,
# |f using wireless or wired Topology
« Error rate Distance betwean nodas
*__ Bandwidth
7 a 1 miark for each row
Protocol Emall | Transferring | Accessing
files wirhs/tes
FOP il
FTP ul
SMTP v
HTTPS ¥
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2 a 1 mark for LAN 3

1 mark per bulled for justification 1o max 2

« Small geographic afas

¢« They will own the hardware I dadicated hardware ' do
reod need to use outside hardware I controlled by Hope

2 b Modam /i rowler 1 blark firsi given

2 [ i 1 mark pear bulled bo max 2 2
= Wifi signal’bandwidth will be weakerfess bacausa if

GGHzZ is only shart range

e ...badroom further away from WaAP than kilchen
» ___Io getio bedroam has o go threugh Moonwalls el

2 [ | 1 mark parway e.q. 2 Reduce imerfarence s ME -
¢ Change o 2 4Ghz they need to say how this can
o Install a signal booster I anolher WAP i mesh wili be achiewed
e Move WAP closer io the badroom
¢«  Ramove obsbructions f by examphe
¢  Reduce number of devices connacied
= Change channed to gne not bping used in locality

2 d 1 mark par bullet o max 3 a Ba careful MP1 is not just
o9 saying it doms nat nead o
o Mo sarver (feguired lor chanl-sener) connact to the sarver - the
* Computers are directly connected to aach other MP is thal there s no sener,
* Compulers are independent | equal
s Deceniralised Accepl reasonabla painls in
»  Compuiers will have softwarne installed updated Feverse.

individually if no cendral installation'updates

Compulers will need own security [ no central securily
Computers will have thair own fles [ no cantral file
Blorage

Less initial cost / maintenance

Specialisi required o selup clieni-server

Easier 1o add new devices

Lessar nesd for file sharing

If &y deévice falsis remosed the emainder can conlinwe
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1 mark per beanefit io max 4, 1 mark per drawback fo max 4

Banafit

L
L]

L

Drawback

L LI ]

E s & & & &

Can access files from any device

... 8.0. they can ingtantly access the data from laplop
and mobile phone

Can access files from anywhere // Can access fram
anywhere with access to the Intemed

Can pay for aule-backups f don't have to backup
manually

Sacurity may be higher than at homa

May be free of cost

.-. you do not need o buy more hardware
Easierfquicker to share files with others

Maore available storage space on her device

Easier 1o incréase storage capacity (nol memory)
Can be used a backup In case of data loss

Cannol access files if no Intermnet access

MNat in control of security (bod less secure)

...cata may be hacked/stolen

May cost monthly fee

.. which could be more long term than buying
hardware

May not be a backup // if choud storage fails you have
lost your data

Crata must be tramsferred to compuier io read

.... may ba intercapled

Conneclion may be slow

... thergfore takes ime o upload/downioad

May be issues a5 o who owns the data

If stop paying ! leave subscription other storage for
files neads to be found

If login details are forgotten/lost may not have access

to files

Mark breadth and depth of
knwladge.

1 mark for @ach valid
point'expansion. Allow
specific examples as
expansions for each point.
Mark banafits to masx 4 first,
thasn look for max 4 from
drawbacks

1 miark per baullat

All devices connected fo at least one other component

All devices connecled 1o all devices (individually or throwgh

another and nol only through the printer)
1 mark for each row.
Statement True | False

v

Etharnet is a protocol

-

Ethermet uses wireless data transmission

Ethermet can transmit data up to 100Ghits per ol

second

Ethernet is within the TCP/IP stack ”

2 ticks in 1 row = 0 mark

1 mark per bullet to max 3

URL sent to DNS /i request sent to DNS forfwith URL

Request sent to DNS is NE
without saying the URL is sent.

® # ¥ B 8 ¥

Destination |Pladdress
Sender |Pladdress

Packet Mumbser

Packel size

Mumber of packeis

Error delection method/value

* DNS looks upifinds 1o IP in its database

*  DNS retumns IP Only penalise missing or

= IF not found, DNS sends to higher level DNS “Wﬂlf_'rﬂ”ﬂ"“ for DNS once
1 mark per bullet to max 3 Dz not award MAC address
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i 1 mark per bulled 3 « Printer may be connectad
« Four laptops/computers, a server and printer present and clearty ADZ 1a(3) to the server or to the
identifiable (positions do nol matter) swilch,
= Switch as a device clearly identifiable...
o _.all devices direclly connected to the switch and only the switch (FT = Accept PC for laplop
fram MP2)
a.g.
« [ the candidates has
given serverswitch ar
Server swilchiserver in the
centre, mark the first one
Printer in their list.
If they give server/swilch,
thay do not gat MP2, but
\ allow access lo MP3,
Switch p—0 | Laplop
Laptup /
|
Laptop _kp
il | 1 mark per bullet to max 2 = Do not award information,
» To connect the devices together A 1a (1) penalise once.
« Receives data/packets/trafiic A2 1a (1)
= Directisend data’packets/traffic only to its destination » Do not award packet
* Creates/generates a list of devices connected to it as it receives swilching out of context.
signals
* Uses MAC addresses of devices connected o it = fAccept MP3 by example
i 1 mark per bullet to max 2 2 « Bod - wirgless has less
= Wireless transmission is slower than cabled AC 1B (1) bamdwidth
+ More devices/users could be connected e.g. mobile phones [ ADZ21b (1)
incroass in iraffic
* ..reducing bandwidth available for each user [ insufficient bandwidih
for users/demand
= Wirgless can be limiled by inerference
# _..such as walls that disnapd the signal /! from other wireless
networke/users
i |1 rmark per factor 2 = Do not accept
eg. ACT 1a (2) wirelessiwired
« Bandwidth avallable connections

mMumber of users (using the netwark at the sarme timea)
(Mumber af) data colksions

Interference | by example &.g. walls

Distance data has to trrvel [ signal strength

Amount of data being transfamad

Applications being used

Sarer’CPU parformance

Using a hulb insiead of & switch

& & & & & & &

* Bod answers such as
cable length
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a a 1 mark per bullet to max 5 5 * Do not award the IP goes
# The websile s hosled on & websarser ACT 1B (3) be e webservar'
* The websiie/websarver has an IP address AD2 1B (2)
+ |(Browser) sends URL to DNS = Allow domain nama in
« LIRL has a linked IP place al LKL
= DNS finds IP
» |f DNS cannot find the IP il passes request to higher DNS = 'DMS finds the IP of the
« __if not found retum arror URL it = given' gals 2
* |P addross sent back fo the browsericomputer marks, 1 for URL has
* (Browsaer) sends request 1o IP/webserver linked IP and 1 for DS
« Wabsarwer processes request for the website/webpagpe finds the IP
« . websarver sends the webpagefile/data to the usar

= NP 11 do not accepd

websener loads the
wabpage on the user's
CompLber
5 b i 1 mark per bullat to max 2 2 = Do not award descriptions
+ A layer can be removedichanged etc. AD1 1a (1) of what the layers do - the
e . withoul affecting any other layers ACT 1B ({1} question asks why layers
= Each layer has its own purposa IV saparates the purposes [ salf- are used,
caontained
« .50 it does nol need to consider whal the other layers do = Do not award vague
s .%ol can be programming individually answers 0.4. layers make
s Individual prolocols ane each smabes/simpler (0 manage it @asher to work with
=  Diferent lavers can inlertace with diferent hardware
5 b ii 1 mark for each protocol. 4 = Mark fwrst answer in ¢ach
AO2 1a (4) bax
Task Protocol
Sending an email SMTP /7 Simple Mail Transfer Protocol
fram one mail server
to another

Transmitting a file FTP I File Transfer Protocol
from a client to a
SEMVEr

HTTP i Hypertaxt Transfer Protocol
HTTPS #f Hypertext Transfer Protocol
Secure

Viewing a website
uzing a web browser

Downloading an email | IMAP ¥ Intermet Message Access
to your computer Protocol
POP{3) #/ Post Office Protocol
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2 (&) 1 mark for LAM 3 Do not allow — in a local area, local needs 1o
1 mark per bullet for justification to max 2 A0Z 1a(2) | ba guantified in some way.
* Small distanceigecgraphical area by example e.g. sama | ADZ 1B (1)
buidinghousse Mo marks for WAN.
=  Connacted by own hardwaralinfrastructure
{I nod connecting through Intemet
#l ne hiredthird-party infrastruciure
{I dedicated connection
2 [11] 1 mark per row 5 0 mark for row with =1 tick
AO1 1a (5)
Description Ethernat | Wifi
A wired connection v
More likely to be affected by v
interference
Crata can be tramsmitted at & faster |+
| spoed
Wireless Iransmission o
Shorfer transméssion range befora o
| data ig lost
2 el |i 1 mark per bullet o rmax 2 2 Controls flow of data as BOD for bullet 1.
» Directs packets/data to destination / directs packets/data | AD1 1a (1)
in a nebwork AD11b (1) | Bullet 1 needs io refer to the rouber directing
+« Receives packets/data from the network/Intermed thir desstination a.g. it is making a
» Forwards packets/data o other computers on the decision/choice on where to send L.
natwork/intemet
» Connects [differant) networks together /f e.g. joins home Bullet 4 - it has lo be referring 1o the
meteork to Intermet connection batween the Internet and home
« Has (public) IP address for LAN natwork, or forwarding of data between them.
« Designates (private) IP addresses to network nodes im“m”“ foaooessing intemal & not
Do niod allow information for data/packels
2 e} ii 1 mark per iem o max 2 2 Accept modem, power line adapter,
B.g. AC1 1a(2) |Ethemat jack
«  Mebwork Interface card / NIC
«  Wirnless access paint [ \WAP Must be an ibem of nebwork hardware
* ‘Wireless network interface card / WHNIC ! wi-fi card
* Bridge
*  Swilch
= Hub
« Repealer [ wireless exdendenboosles
*  Sarver
2 (dy |1 Domain Mame Server i DMNS. 1 Allow Serverisarvicelsystem
AT 1a (1)
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5 (a) *  Anagresmant | sot of rules | standard 2 Do not award set of nstructions
e for how compuiers should communicate /i how data (s ADZ 1b(2) | for bullat 1
santreceived/transmitiad on a natwork
« Example of what could be agreed in the protocol {e.g. speed / armor
checking I etc.)
5 (B} |0} 1 mark for protocol, 1 mark for description 2 If protocol wrong, no mark for
= FTP [ fie transfer protocol AQZ b (2) | descriphon
# Lises a chenl-server model /7 sends from client to server (! Sends fram
server to client
5 {B} | (i) | 1 mark for protocol, 1 mark for descriplion 2 If protocsl wrang, fo mark for
a.g. A2 1b(2) | description
s  HTTPS / hyper text transfer protocol secune
« Encrypts the conneclion'data I/ Lises SSLIsecurs sockal layer
5 (c) 1 mark for IMAP, 1 mark for SMTP. 2 Marks are for IMAP retrieving,
IMAPR ADA 1B (2) | SMTP sending. Al this stage do
= Refrigves/accesses/downioads (a copy of an) e-mail not wormy about where they are
= Allows synchronisation/management of account Going.
SMTP: Cuestion does nol reler to email,
« Sandsforwardsftransmits e-mail S50 rESPONSE Must in some way
refer 1o email'message.
Sends/recehves data s nod
enough.

2017 )

6 b |I ‘ Modem/Router 1

6| b |l | max2marks per hardwane devioe 4 Accep! any hardwane device thal can be used to creabeset
a.3. upiproduce a network.
« MIC ..

...to connect Ethernet cable to computer

...bo receive and transmit data within the networkfo
send dala around a network/to join netwarks
logethento connect b the Internsl

Bridge. ..
...connect networks together

Swilch....
...ho connect mulliple devices logether / directs traffic
o its destination.

Hub...
...ko connect multiple devicas logether.

Server.._
...ko store the data/manage the network/stone backups

Wirgless Access PaintWAP
...ho allow for wireless transmission of data

Cables. ..
.00 COnnECt desices logether

Modem. ..

o connect compuiers via lelephone lings /i 1o coven
digital dafa to analogue | to convert analogue data o
digital.

Device must be different than answer given in Bbi

Accep! repeaber | range extender [ powerine adaplor el
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Question Answerindicative Content Marks Guidance
T |a « WAN is over a large geographical area/neeads to 2 NB Examples of infrastructure/hardware are allowed for
transmil over a large distance I WAN e.g. satellite, phone lines, Internet
a LAN is over a small geographical area. Allow LAN as Etharnet for second bullet
*  UWAMN uses gxtarnal
hardwara/finfrastructure/cables/network /f MOT wide area for WAN
LAM has its gwn
infrasiruciure/cables/network/hardware due to
distance/practicaliies
T |b 2 marks per banedit 4 Do not allow:
-2asy o share data
Eg -"more securg”
= Al files can be stored centrally
* .80 WOrkers can access files from any compuber
= _.all computers can update the ceniral databasalfile
+ __ Pearlo-peer files might be stored on their own

compulers/spread across many compuiers

Backups are cantral

.all data is backed up each timea
--.individual computers do not need to backup their
own data
+ __ Pear-lo-peer may need o parform thair own
backups.

Manitor clients
...1o ensure they are working comectly

+ LUpgrade software centrally
= &0 you do not have 1o install on each computer
individually

Cantral security (antivirusfirewall)

-..do not need to install protection on all computers
... Peer-lo-peer individual securty may nead to be
installed on individual compulers

» WWW is the web pages (that are stored on servers) .
* |nternet is the infrastructure /¥ collection of netwarks
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record bag on i log off times

remaole Socess | VIEW USErs SCreens
audit printing

keylogging

micnitor internat usage [ downloads
mionitoring emalls | files sent / copled
inspact files in users” areas

Accept answers which show how the LAN i used lo monilor

fhe work of smpioyess rather than advantages of using &
LAN in general

IP addresses can be changed [ are allocated as
needed

MAL addresses can'l be changed / every device
has a fixed MC address

IP(v4) addresses are 4 byles long
MALC addresses are 6 byles long

IP{v4) addrassas are normally writlen in denary
MALC addresses are normally writhen in Hax

IF addresses are configured by software
MAC addresses are configured in hardware

IP addrassas are used for routing across a
WakM/internat
MALC addresses are only used within the LAN

[marks in pairs, maximum 2 pairs)

2014 )

For bullets 3 and 4, accepl answers where candidates refer
to IPvE being 16 bytes(128 bits). Award one mark if
candidates state that IP addresses and MAC addresses are
of different size.

1 |a Compubers are gonneched to each olhes For the first bullet point candidates should be describing &
Resiricted to a small geographical arealsite’other network — just the idea that computers are connected to
suitable example “sormathing” is nol enough.

. Dedicated wired or WiFi connections
For the third bullet point, just "connected by cables” is not
enough as there is no indicabion these are dedicated cables
for the netwaork.
b - Ore cantral hubfswitch/routernsenenconnecton Accept diagram which shows the points in the mark schema.
paint Mote that if the disgram is not annotated or described one
. All computers/devices connectad 1o this cantral mark can still be given for the second bullet point.
paint
c L bus Accepl other standard names of lopologies that are nat on
® fing the specification:
= line, lingar (only a5 an allermative for bus)
- irea/hierarchecal, mash
- hybrid
- looplonky &5 an allermnalive 1o fing
Dio mot accept seral or circle
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THANK YOU!
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